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me ' e Date Period

Geometry
Points of Concurrency Homework

cribe how each of the points of concurrency is found. Be specific!

i\Centrmd POC / o MM

incenter. P“‘_t ‘{W ﬂ’(’j}/@ 4/5@(7[%

Circumcenter, POC' (éf "L A{Jedhr .

Orthocenter ]0 OC L& A / /7‘/‘0@@(5

/' "j““};ach figure below, tell what point of concurrency is shown and what constructions form that point:

Point: @)'7%0’0?4‘!'/“{’ - ..,,;,i,,t: _@n‘/ﬁ)f{x

Formed by: /q / ‘/'( ‘%U’-JZK Formed by: | W ,G{ﬂ A

dx'\t C:IV‘C,U/WC%’I?%A | | Point: iﬁf\ %‘/W

/T'Ed by: "L é’ 3 e’cf)\( Formed by: 24':’;/ e 6' /}64741,"




WRIPOTant Questuorns (uUse your grapnic organizer 1o neipj: ’ N
I oS condtrs

1. Which paints of concurrency are always inside the triangle?

2. Which point of concurrency is always on the vertex of a right triangle? @?M 0(@"\7‘@(\

@Nhich point of concurrency is always on the midpoint of the hypotenuse in a right tfiangle?

§
Which points of concurrency are always outside of an obtuse triangle? Q D\'ﬁ? 4

Z { DL
5. Which point of concurrency is the center of gravity in a triangle? CQ" d1 , .
6. Which point of concurrency is equidistant from every vertex? Q / »M‘ < 70 4

7. Which point of concurrency is the center of an inscribed circle as shown below? / N C@”?LW

Few /'1%74\/ -

8. Which point of concurrency is the center of a circumscribed circle as shown below? C'

» ¢ 20) -)&
Point G is the Centroid of AABC. AD=8,AG = 10 Find the length of the given segment.
-9. BD 2 B ’

2+6 2
2te

10. AB )é

11. EG 5
12. AE ’ 5.

s |2 14. DG é

D is the centroid of AABC, AE = 12, AD = 10, CF = 12, Find the length of each segmént.

15. DG ‘ 5
16. AG /5

17. EC ' 2

18. AC Q_la:‘
19. DF t 20. CD y




Name: - Geometry ~ Points of Concun"ency Worksheet

Circle the letter with the name of the segment/line/ray shown.

e s,

A (8) perpendicular bisector 2. (2) perpendicular bisector
L (b) angle bisector (®) bisector
(9 jan ©) median)
éd) altitude , (d) altitude

endicular bisector

(b) angle bisector

3. ’ 4.
angle bisector
(c) median
(@ altitude

(d) altitude
Circle the letter with the name of the correct point of concurrency.
5. The three altitudes of a triangle intersect at the
(a) circumcenter (b) incenter _ (c) centroid (d) orthocenter

‘s $. Thethree medians of a triangle intersect at the

/ ) .
\/ (a) circumcenter * (b) incenter f (c) centroid ; _ (d) orthocenter
7. e endicular bj .of a triangle intersect at the _ .
" (a) circumcenter (b) incenter (c) centroid (d) orthocenter
8. The three angle bisectors of a friangle intersect at the 3 ' .
(a) circumcenter (b) incenter , (c) .centroid - (d) orthocenter

9. Itis equidistant from the three vertices of the triangle.

(a) circumcenter ®) incenter (c) centroid (d) orthocenter

10. Itis ecjuidistant from the i triangle.
_ (a) circumcenter (b) incenter ) (c) centroid (d) orthocenter

. 11. It divides each median into two sections at a 2:1 ratio.

(a) circumcenter (b) incenter A(c) centroid (d) orthocenter

‘\'/, e ":—_w




* IName the point of concurrency shown.

C 1 veum W'/der

Civ oa/n&nfav




Name Date:

Analytic Geometry

CY

What is the value of x2 Round your
answer o the nearest thousandth.

T

Cos55_ 13

An———— " —

| P

4, Whatis the value of aand b o .

the nearest tenth?e
2 2
Al =/8

10.50% %2187
b E— /4.5{2] B

) ) S’('n 3é _q_,

] IR '
4:/37;;&:@{

Right Triangle Trigonometry Practice

' P-eriod: k%{

2. Find the lengths of y and z in the diagram
below.

5. What is the measure of Z4 to the nearest

degree?

, 150
Sin = —

223
A': 9’»\“ !—S;D)
238/ .




6. Suppose AABC is a right triangle with 2B the right angle. Explain the relationship between Tangent of \\f :
angle A and Tangent of angle C.

A 7;»*1/4:"; . . K\G

L{ (Z::/;Maﬂ)' '{
- e £ P .
/dn C bl 3

7. Explainthe relationships between the sine and cosine of complementary (the 2 acute ohgle_s) angles.
(Use triangle ABC above and find sinA and cosC.

Te Adjocod of C s -ablso

a3 C~3~ | ‘
Sin A= 5 cos -5 Fhe Offnsﬁ"faa{ 4.

n right AACB, AC =3,BC =4, and AB = 5. Draw a figure.
A. Find the exact value of sin B. _= 34/5 .

S/
B. Find the exact value of cos A. =/&

5 "O

A
C. Find the exact value of tan A, __- 2

. 4 oy
D. Find v"necsuremen’r of Z4 (to the nearest degree). __SI" /4 = ';- A = 57'4 C%‘)
_—

9. ( Az 5‘3./300{

ﬁABC,AB:@cmmdBC =11 mDeﬁminethgtangéntmﬁoofA&toﬂmnearest&b
L L : ——

————,

adp ¥
!

B ¢ A4
. At ()
Determine the measure of ZC, to the nearest degree. )
Sop '. - By : : !
e tan C \(.8_.) =P Ss‘(’j o)
T = faf'(%)‘ |




~

Inlhetnangle BC=12 cm and §if ﬁ 0.583. Whansthelengihofthehypuwm:se to the nearest

of a centimeter?
Aqu snA= 2| X2

% T osr3
! 0883 12 | |X=dD.583cm
B 129 C T 7%

12. ’ ‘

Aoofis shaped like an isosceles triangle. The slope of the roof makes an angle of 24° with the
horizontal, andhasanalumdeof?; 5 m. Datermine the width of the roof, to the nearest thousandth of a
meter.

[ _X=7.5¢) ‘
[ Loidbh = /5,7;1:7 & \i%/

~—eanaped

PERE . | | 220

10. Inright AABC, sinA = 2—; and angle C is aright angle. Draw a figure. Write all trigonometric ratios as

M simplified fractions. QFP A a—! 4 ﬁq a: 4 42: CL
- . e 2
A) tona=__Aj4 A0 Jll-l'!.z‘-‘- 2§
Jy | 2,02 0
E) cosB= d9 l‘ﬂ?“g?l
2o C Al B 2 .
2 62 oo
F) snB= ‘ N
) sin 1 — é - oQ/O
G) Find the measure of angle B to the nearest thousandith. ﬁ_é_oé_
_ 4o
/ AD =




14. A 24 foot ladder leans against a building and makes an angle of 68° with the ground. To the nearest
foot, how far up from the bottom of the building is the top of the ladder?

x =4

()Z-ZzTQfasi%’ﬂ |

15. A man that is 5 V2 feet tall walks 175 feet from a buuldlng and looks at the highest point on the building.
The angle formed by the person's line of sight and the horizontal is 12°. To the nearest foot, how tall is

the building? «ém an 12 X | éw‘lc/r'g '{6’] t = 371185
g T T i#s -
% . 128 -. .r X= 35 tanZ &M ’

. 75 N 1 MWing =
A &i/z.ﬁ X:g%](;?_ ( J/ 42,657 -,07"4/’

16. You are building a tent. The rope from the top of the tent pole to the ground measures 5 ft long. The

angle of elevation is 68°. .
| Siné§_ 2(5 b.: ®4:63 744,

ety

W N\ ! | .
és < w=5sinlf

A. Find the height of the pole to ’rhe nearest thousandth.

B. Find the distance from the base of the pole to the stake to the nearest thousandth.

2, 4 6€29°=5>
533.508 . "'Wg t

17. [f a 200 foof tree casts a 118 foot shadow, what is the angle of elevation of the sun? Sketch a diagram,
set up an equation and solve.

| 200 S’Q) (o:8-51
L 7T g 57. 457J/ §32.3 44+

-/ 200 _op [25’(4
- 20V
O= - [u? | NEN

I
18. A plane is flying away from you. Right now, you can see it at an angle evation of 56°. Thirteen = ‘l,ﬁﬁ‘, X

seconds later, you can see it an angle of 53°. If you know it's at an alfitude of 8,000 feet, how far has i

traveled in that time? B) How fast is it traveling? 'éclr\ g é SoUO fa & 3
! * A ~
?0&10 , & Pa’t?\‘? i Pooo
5 { ‘f‘d nS é ] "f‘dn 53

' Xx=5394.065 y= 028432



Name k@‘/j/ |

Ch. 10 Circles Review . Date 0 Period___

_ /"/\\'\r the foliowing questions regarding circle T, identify the part in the diagram.
|

/\ o A chord A_@
. . Adiameter CE
A central angle LCTD o [DTE
A radius 7?
Atangentline  BD
A minor arc CD , AcC (36

A'major arc A
A semicircle gE or CDE

For the following circles, find the missing measure or measures

XN AW N R

9.

39°
B .
103°

' o | f%ﬂuj
(./j\]" mgp=@ mﬁz@m;{ézqugb, . 117‘(201 o

sing your knowledge of circles, solve for x. Assumie segments appearing to be tangent to the circle are tangents.

2
12. B g9 13. B ' 14. K I ~0=17
' A . , 3x2-10 2
A J M=+
a . n J"‘--.x 17 X‘Li $’
= ! 2 , ‘M
X%+ (?7) _ZX«I—XB g wogﬁ:x ¥=3
" Solve for the indicated arc r.neasure.or angle.
' 150-9p - X ‘ '
15. T 6}0@5 Jo 16. &7° ’ BO® 17.
:?0:) 4 7 "
/00
w
&o §7 Z
XD
, mm= 90460 x= mxw=| 70°| zxaw 4 §p?

wj x | :@ A6F)+2(§0)1dx =360 mz=[)sp7 mEAY =
. BY +14v+2x =3{0 -
T 2w=(( xX=33°



18. Find mCD X 19. 1fCB L EF, CG=2x+10, and GB=4x+2. Why. - .

b is the length offﬁ? \’ U'
Ix+90=360 N
N
Ix =470 o 2xtp = Hx+d- | ( \ﬁ*\
f )( :(350 B ’ X e Qx E - V

Solve for the indicated arc measure or angle

X -
L xS
20. (83x - 8P 21 {ax+ 1)

[0
>/

S5xt+3¢-§ = [0

[4x —3)°

-3 =dx+ 11 :
oy M
—( = oL 2)(: ‘ -
¥=18C /X 43.35 =
23, iziay 360-23% 2, p5e Ho-75-85-175 45

= 18(

&
= Z 3 i
Find the value of x in the figures below. X«g X+d5

Q}g lgi _Z:;E eb ﬂ 45 )
Ex= 24 |

4dx =28+ 1L

Gl
2= x (x+1§) Kj

28.

Lf‘k X+ §x .» ()

o XHex-44zo -
KT a3fxaz)= (BT

A= Y4+ €oi )
v Fal= 4 ==




. In Circle D; £ EDF = Z FDG. Find the indicated measures.

a. Circumference of circle D C < QTI’ r

o C=2n (1)

b. Arc length of EFG “Z:' - -!—6-9"” g ?Q
' Iz = 3go | IL=7em
L 4 p
| T L= &n metas |
31. What is the degree measure of an arc of a circle with a radius of 4 cm and an arc length of 377 cm?

LA | 3n _AB | s4B=3(3)
Arry | o 21'_(4) o fr@:/&@

|

32. C‘- Do 33. C:WX |

]
)
N

s

Please answer to the nearest thousandth. -

* Find the length of 4B.

Z?;o.sj: 3¢o”

~ L 21 SoL= 427 dT
) s P2

[L: I8t ]
K olZm [




L _#B
53((7

Find the indicated moasure. C
38.  Radius of ©

37.

Circumference of OQ

3’(3+x) HIQ(:@) :

[2x= € 6enr)

[ 2x = Ex ‘!’Ql" 7'*3)( O’ZL}
tx=adYy X=15
(x=4| X=5

44”. 45,

5% 9o +7)

144 =346%

=

V'

(- (xx)=(2(2)

225 3+

39. .

X=Ix+{x-6 =10
x+5x —126=0

46.

L 'ugr
] ZT(/?cJ 3o
L 51

| ot 180
| 16oL= 5527%45“7’

Sns
A

= %
'3(3><+15) Qo(x»f;zo)
U5x+ 225z 20X +4 0V
253( = /?75'

T

[H(xsaie) < 14 =

|4 (x+14) =257

(Hx+ 204 =458
[Hx =32 -  )




‘ Chapter . 10 ‘REA/*«’W OI_L_ i ke -
\/m . Quacristers' AR DB rscribed n{y I Find: . ;/

c.z) mLA T fOD,SV
B mig= 155

INmics 795

Ynid > g4 5

Eind :

49 LB [ & )

S~ W mep FAT
G TP33/ED A)l %

X=Qu

c) Findm/‘?f(g?‘,' Q/O

A /50"

e R i RS

. F 11-22 C‘“i’?)l .




3. Fill in all arcs and angle measures.

[2

a. Find mz.VZW

. -
b. FindmWX ?O

/ |
ggé / \‘\ //ﬁi '
/ Y aiE | |
< 0° :
[ "f/"‘. ; {f! c. FindmVY /\p’/“é
X ;‘!/f/j \\fi,/ ‘ o 3—:
Qi*r’ﬁ,/ﬁﬁ d. Fad mi WYX 5;/
g £2 3 o
Find m4L{ .
' { .
me =3 (2323~ 12¢)
L _ '07?
: Z /MZ_{: S ;L ; _
-

W=

'Z%fo‘?

_m/f.WY{ =

= 0° m[ig = 700 |

=

.




Geometry Area and Volume Quiz Review Worksheet 2 /VO C 'ﬂ[Z no T k € ‘
\ :
e ] ’ \ ;
Find the area of each secton_/EQ\'_!"‘_‘,"L"
, <

2) | §_~ - o5

Ty 3¢v
S .2
256w 24

e ' S=d2%m, 92
‘ S=54w m ‘ _ Lj i
Find the volume of each ﬁgure Rmm ANSWETS the nearest hundredth, if necessary.

3 prism. Ve prism/=8-h

7km
sm m . {

=2(1) (37) s/ N\ -‘—5’(5)(5)7‘

ﬂ/*'ﬁi;;,‘,;mﬁ {V* [75. 5'7 10 km V= /KK k-mi* |
) ™ |




14) w  Som cjb'mf’eﬂ V’"'l/\
RG]
=5 ’ V:"?OOYTCMB/

; 3 @Af?rc V., "Tff
= s b
V=R’ m “3nfe)
=nm | l/ Q?fwm

Find the area of each. Use your calculator's value of 7. Rﬂund your answer to the nearest <
tenth. (

Clrc(e' A=mr™ —
17) _ - 4 { 18) radius = 10.6 cm

2 2
A=T(7() A=mv
A
A= 577n | A=T008)
> N
,4 = 1. 34 T cm
= 353em”®
Area Volume |
Triangle A=7bh | Cylinder Ve=mrh
Rectangle A=bh . Pyramid V=%_
Ciscle A=mr? | ~ Cone v=1m
Area of 1 Sector of a Circle Sphere "'*'%"" o
Areq of Secior _’g':g S < Q_ | Prism .V =Bh )
Tr* 340




Geometry  Circles, Slope of Lines, Line Segment Partitions Review #1  Name: k— 6 LV

J 1. Identify the center and the radius of the circle. Then sketch the graph
(c+2'+6-4'=1 (9 l() -3+ (43P =4

4}' - | 4
q ’ .
] ‘ o

IR 11414 K TEAEAR] 3| & §
o =
jl ) | N

Center: ( -2 L" Radius | A Center:( 3 -3 Radius 9‘

2. Write the equation of the circle in standard form, given the graph below:

W y
1 | 4
4 AT Y
O j SRREL
T }!'j
Nk EE ARNEEE)" “EI I X 41 & >
“A n -+
C 4
x; ‘% 3
Center (LI' Eatas ) Radius: 1 Center ( o? G Radlus
Circle Equatlon Circle Equation: ( X+ Q\ + / '4 4‘\ ?
(x- '+\2+(w‘1'1+\ = | |
3. Write the equatlon of the circle in standard form gwen that center: (4, -8) Radius: 3
( X - L#\ + [ 1 +§ ) 7
4. The equation of the circle is (x — 1) + (y +5)2=25 . Tell whether each point is on the circle, in the
_ interior of the circle, or in the exterior of the circle:
Y » (1,0 ) b) (3,1 ) A
. — U7si
- (1-1y 4(o+5) =25 v (~3-1) +(-14s) 2 cir

on the civde } 4% 4 = 32535



5. Wnte the below equation in standard form. Then identify the center and the radius of the circle:
x>+ - 24x — 16y + 204 =0 ®

X QL"x+l‘}1f-+j 1418 < ~20)_'+/,,ng Standard form:

X

C -2

=R

, ()(.. ]Q)z+{j -X‘)z_:[f

. _ Iy
(x- />—>1“(j X) L’L o Center: /2 § Radms__&_
Write the standard form of the equation of the line described. /
6. through: (-2 0), perpendlcular toy= 3x-3 m, = §
=mx+ L

% th
:-é(—ﬂ% 25‘ L ng‘*o?/

7. through: (1 '5) PWJ(IM 100}’=—~x 2 m,:,'g'
JVMHA b=

‘ "5: gl([)*l‘é
,)( \ xz ‘jz

8. Given the points A(-2 4) and B(7, -2), find the coord}nates of the point P on directed line segment
AB that partitions 4B intheratio 1:2. rato> 5

&= 7-(-2) =1

/..\5(‘-‘-2-—4' = -4 P( ’Jl)}

Y ~zoordl < -;-(‘ﬂ'r -2 =
c L .
j‘“m?' 3( Ot 4 4 X 5 X Ya

9. Find the coordinates of point P that lies on the line segment MQ , M(-9 -5), Q(3, 5), and partitions
the segment at a ratio of 2 to 5 rectio= ;~—

O

S

Ax = 3«(»7):42 »' I o\

by = 55210 [9( ~37 -1

Ycovd? 3(12) = T = Z . )
g b 200’ 5 = ‘-_I_é}‘ J -
7 ) Z



- Geometry

Completing the Square Review and Circle Equations Worksheet 2

Recall Circle Equatlon in Standard Form: (x—h)2+(y—k)?=

erte the below equations in standard form, then identify center and radius of circle:

/33 1) B4y + 14z-22y +150=0

25 n e 2
S plx i+ 22 = SoF T

x 3 -1

4

¥ ?_\___\
g ==
Qunﬁ(fuj‘:ao
C:(-#1) r=ldv

-~ e

-~
o

e e e S

A5

r* Center: (h, k) Radius:r

}ﬁ?

o=l a) + (Y

2) 5%+ 2 = 2x+16y—-16=0

J +/6‘%r

i

sz%(-r

3 P4y -4x~18y +60=0

X - fow +j z”rjff’ =-got 48]

~2

"

4) 22+ * ~ 265 - 16y +229 =0 -

X - )gx +/67+ -l 164*»)2%1%4

o

(<13) ?”(;‘«?)f 4
Cins)

5) &P 4 32+ 20x 432y + 351 =0

2
Xt20% A7 +:)

“ 432,48 = 3 Sl

—

6) ¥+~ ﬁx+24y+128=ﬂ

s —bx+1 4 +94 ﬂw:wn?(ﬂ +/L/‘/
x_ =3 J
e _M .




.
y
N4



" Quadrilaterals and Polygons REVIEW Name /Q ‘4/ Date Period

e Solve for x. The figure below is a paralielogram:
Y

(50 - (#f sides -2)

1. 2.
—r xa4=15 703 = 360
44 X 45 +05478+9xt10 = 360
15 /)(:: K
pl— | Ix+ 288360
Ix =71

Solve for x. The figure below is a parallelogram: @

3. 4,
, A B - T 27 +19x L :340
: -X:H 89°
y ; |7x =95
| V 15
DL C . N x=5
My

N

N

O

Solve for x. The figure below is a trapezoid: m I:’/’A'fj W{ = i‘— (4456 + !4561)

5.

9 E__ 9 F
+y -x+/9=13
3 W —¥ 13
o / ~x+19 \ -X= =
(7 -
X
; - ¢

Find the length of the base indicated by the trapezoid

6.

gz 13 r

./ \, |2
( )\ R/ 9?6 \U] 2.4




Find the measurement of the missing angles indicated for each trapezoid

meSs ég

msQ l , S i

msP 650
L 5

Find the indicated angle measures: 2x 4 3é 43 0136 b

8. 2x~ <54 12
; lea:r, msB :-7

meD 19‘7"

9. L - . 4\}_-3-[{?

4
12420= RH

RH=Jsyt}

10. The perimeter of this kite is 116. Find x.
56 +2x =16
2x= ¢o

O
(,‘ 7/



11.

() FLYE is a kite with FL = LY.

‘ q Findw, x, and y.

D o

12. Use distance and slope to verify whether parallelogram below is a rectangle, rhombus, or a
square. DE-= | +_3‘L: }T;

EF=1%¢ = iy =2J77

FG= 3= 70

L D6 =2%(%Jy;

g;! My = 3/, Mo ;7)7

Mg, mEF )

13. Find the measure of one interior angle in each polygon. Round your answer to the nearest tenth
if necessary. n={¢

2

14. If the sum of the interior angles is 2340°, find the number of sides for the polygon.

() S=d34e  23Ho=/gon-3(0 _
- 2%&)2[&7‘,\

SsIFrn) T[]



15. If each of the exterior angles is 30°, find the number of sides forg‘ue polygon .
Anl 340 |
n ™ e— v \
j P14 /Q 576(,(5 , f(P

16. If each of the interior angles is 135°, find the number of sides for the polygon 4

WJ/ =1 ?._9_(;_""‘) 135 _190(n-2) | 135n= I§0n -3¢H
) LA 45p=3¢0 @

17. Find the other endpoint of the line segment with the glven endpoint and midpoint.
Endpoint: (8, -8), midpoint: (5, 3) - 3, " 4 j/,

‘M 3]” (QJM)/

18. Solve for x: - - g
. n= -
300 1300\ ¢ Igor4) = 720
o0° Go+ 130(3) 4120+ % =720 .
' X 165V = Fan X =207
130120 | | | ()
19. In thombus DLMP, DM = 24, m2£LDO =43°, é) OM= (=2

and DL=13. Find each of the following. .
b) msDOL=_70

o melo- 47°

d) m/DML= 4{3 i

g pP=_ |3

20. Use the following rectangle for parts a and b

a) ms1=54° find ms2.

3¢°

b) IfXT=2y-3and US =32, solve fory.

XT+XT=Us [N
\

2(24) = 32 .



\

)

21.

22.
in C3JKLM, what is the value of mZK? In kite UVIAX, mZXUV = B4°, and
MW= 68°. What Is mZ AX?
U- XS 3¢y gy x=3p0
| 5 ;r Y
;:j" | e F2r  (§ (H4a
G 42° J 45°
16x-B+%xt] =/ PO
A4x~n =] §0
>Ux={F2 @
23 — - 24.

GE =(5x+ 2nd DF = 8x— 7.

What additional information would sllow
you io conclude that JKLM is a rhombus?
ey i

o/

F_JK|| ML and JM [ KL.

H JL and MK bisect each other.

25. 26.
In trapezoid PQRS, if ¥X is the Which is the best name for the
mids&gmani what cggld be the quadrilateral with vertices at (2, 2),
lengths of PQ and SR? {5, -2}, (1 -5), and (-2, -1)?
! [ e & A parallelogram C th bt>s
X —24om Breciangle ( Dsquare/ , o2
nf Ly g
wrd, 2
F 4cmand 8 cm A BL¥% 2 s 5
G 9cmand 15cm -
H \ Gﬂ} Mg ® LZ>
J 18 mand 30 m .7
g "V




I CDFG is a kite, find each measure,

27.

2RVEZA L0

43+

0
//

31.

W1 SN

"] \9\\

8x + 3.2
] _ H . ‘ -
i?.i - ;( ZXTQX+Z\ Z)
I?\,] fed 5’)4 <+ ]_é
WXYZ is a square. If WT = 3, find ea
33 | r 9
“a)meWYX = L{'S

vz-  SV/=

15.5 2854
=31

9
c) meWTZ = ?D

d) xz= é
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. The math club is electing new officers. There are 4 candidates for president, § candidates for vice-president,
2 candidates for secretary, cnd 1 candidate for treasurer. How many dn‘ferem‘ combinations of officers are

v ‘vossible?
4-5.5.0 = Yo combitins

CCGPS Analytic Geometry Probability Test Review 2 =
Com bhat

2. A piggybank contains 2 quarters, 3 dimes, 4 nickels, and 5 pennies. One coin is removed at
random.

Q) Whatis the probability that the coin is a dime? 3

b) Whatis the probability that the coin is a dime ot a nickel? = e .lf_:: f /
» g , oV /2.

c) What is the probability that you choose a nickel and then a nickel? (wn‘hou‘r replacement)

L -y

d) What is the probability that th in is not a quarter? L}> ] 3 ? /
1z g/
w7

3. Each of the letters of the word “ALGEBRA " is on a separate card. The cards have been mixed
and placed in a box. If you select one card af random, what is the probability that its letter will
be .NAHE

2
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4. A card s randomly selected from a standard deck of 52 cards. . Find the indicated probability.
**Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds, 13 spades, 13.clubs, 13 hearts,
36 numbered cards, 2é red cards, and 26 black ccrds -

a) P({Face card) b) P(Ace ora Diamond)

A S

,_.—.-a-—-—.

575 5875
d) P{ Black card or Fdce card)

2 2 ' 2,6
T 7 %l 52 52 52




5. Two cards are randomly selected from a standard deck of 52 cards (WITH REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 24 black cards.**

a) P{Jack and Heart) b) P(Diamond and Diamond and Diamond)
L 1 3 31z (] '
i '3 - — — Y e —
2 5 |6y 52 53 537 [€4
c) P(Red andKing) . d) P{ Black card and Nu d card)
2.4 [T 2.3 . [y,
52 52 |26 ‘ 52 52

6. Two cards are randomly selected from a standard deck of 52 cards (WITHOUT REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.**

a) P(Jack of Hearts and Heart) b) P{Face card and Face card and Ace
IS NN
52 5’} Z2) : 51 5;’7 50 T
d) P(Black Card and Red King) d) P Black Jack and Numbered card)
26 2 | 2 . 3 _|¢
52 5 s -

7. The probability that a student plays Tenms is 47%. The probability that a student plays tennis and
Lacrosse is 16%. What is the probability that student plays Lacrosse, given that they ploy fennise

o ok
O4F L

8. The probability that a high school senior drives to school is .81. The probability that a high
school senior having a job and driving fo schoolis .52. What is the probability that high school
senior will have a job, given that they drive to school?

- 5T okt
.5/

For #9 - 13, refer to the following table.

Male Female §ubtofcl 9) P (Male) = ng =
Blue Eyes 40 20 é O
Green Eyes 10 - 80 ?(] 10. P (Green Eyes) = iq’
Subtotal 5\0 {00 150 /
| - den pmin AT S
11.P(Green Eyes |i\£gl_e) = 12. P(Male | Green Eyes) =
L v |
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CCGPS Analytic Geometry Probability Test Review 3 k g

r LA deli has a lunch special which consists of a sandwich, soup, dessert and drink for $4.99. They offer the z/
\ ) ~ following choices: Sandwich: chicken salad, ham, and tuna, and roast beef Soup: tomato, chicken nowdle,
vegetable Dessert: cookie and pie Drink: tes; coffee, coke, diet coke and sprite. How many lunch specials

are there? :
3 ‘2 5 :(10 [unl Comlinsciins

"In a bag there are 3 réd marbles, 2 yellow marbles, and 1 blue & 7 '/J
marble. After a marble is selected, it is repl Using this
new situation, find the pmbability of each outcome listed ‘

above. 3 2
2) g red marble and then a yellaw marble 4” ,‘ ¢
b & blue marble and then a yellow marble * fi
©) g red marble and then a blue marble | i |
d)

v—
¢

¢ Zf:az[

any color marble except yellow and then a yellow vmarble (7/7
¥ °) a red marble three times in & row wsf 3 tj_[
o el o b ol it € 7L

3. Inabag there are 4 red'marbles, 2 yellow, and 5 blue marbles After a marbleis selected, it
is NOT replaced. Find the probability of each outcome below: 77 -4 vﬂj

2 a red marble and then & yeﬁow marble ’% =

b 4 blue marble and then a yellow marble =, %

u
° ared marble and then a blue marble 3 m , ¢ 5 al
4 any color marble except yellow and ijlen a yellew marble ;- Lg | _;73{
e of g 32 i;. . :

a red marble three times in a YW 5T [ s

4. Each of the letters of the word "GEOMETRY " is on a separate card. The cards have been mixed and
placed in a box. If you selec’r one card at random, what is the probabun‘y that its lefter will be “Eor a
.consonant”?
LR 4




5. A card is randomly selected from a standard deck of 52 cards. Find the indicated probability. **Hint:
There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds, 13 spades, 13 clubs, 13 hearts, 36 numbered
cards, 26 red cards, and 26 black cards.** '

a) P(Face cards or Odd numbe ds) b) P(Facecardand Spades) ‘ ' \/\ >
2, <2 .‘ ‘ | 2.
’ 52 z 5L
i ¢) P(Red or Face Cards) d) P( Dlamond even cards)
i 26 12 :
Y= 13 s*z 5;, 5-2, /3

6. Two cards are rondom%/ selected from a standard deck of 52 cards (WITH REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.**

a) P(Face cards and 0dd numbered cards) b) P( Face card and Spades

[P [ 12 i3
s2° 5, 52 32
c. P(Red and Face Cards). d) P( even card 3 times )
2'6 i_%; 5‘) . o 34 ?;_b'_
27 | =52 sz

7) Two cards are randomly selected from a standard deck of 52 cards (WITHOUT
REPLACEMENT). Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4
aces, 13 diamonds, 13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26
black cards.**

Spades
a. P(Face cardsand Odd numbered cards) b) P( Face card and Spades) R
12 ¢ 3 i2.. 3 C )

2! 5‘) 22!

(c ) RERedm T d) P( evencardStlmes)
P(H‘WHLS Lace W and RCJ) )g _]j’
SR ! S‘o

8) The probability that a student plays tennis is 56%. The probability that a student plays tennis
and Lacrosse is 26%. What is the probability that sfudent plays Lacrosse, given that they

play tennis? Vo S A

- W4
For #9 - 12, refer to the following table.

Jo © 2/
Maie | Femaie | Sublotal | ¢ (Female) = 75:(—) 53
Blue Eyes 40 20 { [
Green Eyes 10 80 7 o 10. P {Green Eyes) = q z
/5
subtotl | 5& | 100 | )50

[ - ' ()
11.P(Green Eyes| Female) = / 12. P(Female | Green Eyes) = /%;" N

12 De,om% be PGIe) ¢ p[;.’/g,m)



